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(a) bond indenture  (b) deferred call provision  (c) protective covenant
(d) catastrophe bond  (e) bookbuilding (f) green shoes provision

6. In an imputation tax credit system, company X YZ pays a dividend of $3 per share with a tax
credit of $0.5 per share. (a) What is the main purpose of the imputation tax credit system? (b) If
you have 1,000 shares of XYZ, what is your taxable income for the dividend from XYZ? (¢) If
your marginal tax rate is 20%, please calculate the tax liabilities for this dividend. (15 %)
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7. An all-equity firm is considering the following projects:
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The T-bill rate is 2 percent, and the expected return on the market is 10 percent.
{(a) Which projects have a higher expected return than the firm’s 10.8 percent cost of capital?
{b) Which projects should be accepted?

{c) Which projects would be incorrectly éccepted or rejected if the firm’s overall cost of
capital was used as a hurdle rate?

8. ABC, Inc., and XYZ Corp. both have 6 percent coupon bonds outstanding, with semiannual
interest payment, and both are priced at par value. The ABC, Inc., bond has 2 years to maturity,
whereas the XYZ Corp. bond has 3 years to maturity. (9 %)

(a) Please calculate the duration and modified duration for these two bonds?

(b) Based on the answer in (a), if interest rates suddenly rise by 1 percent, what is the
percentage change in the price of these bonds?

{(c) Based om the answer in (a), if interest rates suddenly fall by 1 percent, what is the
percentage change in the price of these bonds be then?




